MATEMATICA I - Respuestas de la Serie N° 1

I) a-c- e

2)
Notacion de intervalos Notacion de conjuntos Grafica
[ 5 +00) {xeR/x>5} [5
(10 ;00) {xeR/10<x} oS
(=3;4] (xeR/-3<x<4) e
[-2:3) {xeR/-2<x<3] [ﬁ
3a) (~o:2]
b [-2:1)
¢) [-2:0]
d) (~o031)

4) a) C(x)=7x-15
b) P(x) = 6x’-4x* -5x + 3

5) a) C(x)=x’—5x-5
b) Cx)=x-x*+x—4
¢) Cx)=x"-3x+9

7) a) K=9
b) K=-2 v K=4
8)
a) Raices: x=-3 v
b) Raices: x=1 v
c) Raices: X:% Vv
, 3
d) Raices:x=-— v
2
e) Raices: x=-1 v
1
x_i
9 a) ——2

R(x) = 54x — 37
R(x)=-16
R(x)=5
R(x)=0
x=2 ; Px)=(x+3)(x-2)
x=35 ; Px)=(x-1)(x-5)
x=-4 P(X):2(X—%)(X+4)
x=2 v oox=-1
1 1
X=-— vVooxX=-—
2 3
b) (x+1)(x+2)
x—2

. PO=2(x +§ )(x-2) (x+1)

. _ -t
; POO=60c 1) (xF D) (x-3)




10) a)x=% b)x:% c)x:_?9
d) x=0 e)x=_72 f) zg X = 75
gx =4 v x=-7 hyx=1 v x=8 1)x:% v x=3
11) a) x=4
b) x=4
c) x=-3
d) x=10
12) a) x<4 C)XS_E d) X>—§ e)x<-1 v x2>4
f)4<x<-2 g-3<x<2 hy [-2:1) U[2+0) j) (-o0;2)U[7;+0)
k) (2;3) m) (~oo;—=2] U[2;+ ) n) (-3;3) o) [1;5]

p) (—oos—4)U(-1;+)



